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January 14



Draw the molecule BH3. What are the “symmetries” of this molecule?

mﬂahph
( [g? /k —
H /~ H
okadion by 120%  Symmetry = M;’ﬂ]
[1\3 J prans Jyrmy Aot oo
ZOQ '“Mu ”,,- F(y/}

’ \/ab( Ean
A } >¢ >< -)er\g-FDrw)ﬂ'V"C ‘l'D‘jLH"’@'



Symmetries form a group. What properties should a group have?
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3| Describe how a group acts on a set.
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@ What is the Symmetry group of BH3?  fe Hl chon

A= Al )im 4roit C
@ /K ﬁﬂﬁm kd A A
a ﬂllj’L )()
L Im\ 3rﬂwp ij ﬂlﬂ)

ro{’ﬂnw o, UBO s U «1] ot /k - /L
T b

0 d\,*b - c)a\ [\} S A"«rb/k -
T 5 a

@ u)\b /]0)\(/ Sr;trSf@ A )\



@ Generalize, and describe the dihedral groups Do,.
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@ | Describe the symmetrles of BH3 as a permutation group.
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How do we multiply together permutations?
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Define a group homomorphism.
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@ Define a group isomorphism. Explain why Dg = Ss.
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